THE ATOM o .

b) Describe the structure of the atom in ferms
of these particles.

Negligible

Sodium Na 1l 12 1
Magnesium
Aluminivm
C
N
8
7

¢) the idea that all substances are made of very swall particles was rejected until John Palton came
along in 1808.

Nuwber of protons 4 19 17 1
Nuwber of neutrons 5 20 18 12
Nuwber of electrons “* 19 17 11

Nawme of element
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MASS NUMBER

a) What is the mass number of potassivm?

b) What is the atomic number of potassium?

ATOMIC NUMBER AND ISOTOPES ‘

Structures
and Bonding

2 4

¢) How many electrons does a neutral atom of potassium contain?

d) Why is an atom of potassium nevtral?

For each one write down (i) their atomic number (ii) their mass number (iii) the number of protons

and (iv) the number of neutrons in one atowm (A, B, C, D, E, . ¢ are not their chemical symbols).
19 1 40 35
Bl | [z [ e )
b) Use a periodic table to identify the elements, A, B, C, 0. E, F and 6.
A= B= B e p=
B= BE oo B i e G=

(i) Atomie nuwber: .. ...

(ii) Mass nuwber: ...

The following show symbol representations of two isotopes of hydrogen.
(i) I b) How do we know that they are isotopes of HYPROGEN?
1

(ii) ‘W | o How many electrons would isotope (i) contain?

d) How many neutrons would isotope (ii) contain?
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